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Mr. Schlansky Geometry

Parallel Lines Cut By a Transversal with Algebra

1. In the diagram below, line p intersects line 7 and line 7. /p
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IfmZ1 = 7x and /2 = 5x + 30, lines m and n are parallel SXF30
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2. Line n intersects lines / and m, forming the angles shown in the diagram below.
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Which value of x would prove { || #?

;_))“ ézlg b(ﬂ/h %ulﬂ_ < X+ 421)" / >
» 37 @//m - A
‘( d= |9\><
/77\—

3. Peach Street and Cherry St1eet are parallel. Apple Street intersects them, as shown in the
diagram below.
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If m/1 =2x+36 and ms2 = 7x -9, what is m/1? QXP%;\ Pogoh Straat
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4 In the d1agram below, transversal TU intersects
PQ and RS at ¥ and W, respectively. SXx=22, a

If mATVQ = 5x - 22 and mL VWS = 3x + 10, for which
value of x is PQ || &S ? b(}”\ acute R st 1o »g
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5. Lines p and g are intersected by i;;e r, as shown below. g H
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If m/1 = 7x - 36 and m<£2 = 5x + 12, for which value of x would p || ¢? T
@9 N OM aek and ot OtuSe
3) 83
4) 97 SXHL+X-Yp = 1%0
( X ,-—U(L/ 7
2y /)
\i%’ O%
w
6. In the diagram below, line ¢ is parallel to hne m, and
line w is a transversal. 3 $%-2 |
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If m/2 =3x+17 and m£3 = 5x - 21, what is m£1?
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